Division by 10 (1)

Name: Date:

680 = 68 tens | 680 + 10 = 68 380=__tens 380+10=___
300=__ tens 300+10=__ 570= _ tens 570+10=__
130=__ _tens 130+10=__ 660=__ tens 660+10=__
220=__ tens 220+ 10=__ 790=__ tens 790+ 10=__
320=___tens 320+10=__  500=__tens 500+ 10=___
750=__ tens 750+ 10=__ 340=_  tens 340+10=__
6A0=__ tens 690+ 10=__ 970=__ tens 970+10=__
600=__ tens 600+10=__ 580=__ tens 580+ 10=__
390=_ tens 390+ 10=__ 140=__ tens 140+10=__
650=__tens 650+ 10=__  200=__ tens 200+ 10=___
490=__ tens 490+ 10=__ 80 =__ tens 80 +10=__
330=___tens 330+ 10=___ 170=__tens 170+ 10=___
950=__ tens 950+ 10=__ 640=__ tens 640+ 10=__
410=__ tens 410+10=__ 1M0=__tens 110+10=__
520=_ tens 520+ 10=__ 700=_ tens 700+10=__
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